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85-H/E — 9T\ {a.T/ SOCIAL SCIENCE
areferar ?E[ fTG9T / Instructions to the Students :
1. 39 30 TRE 37 dlet e =l S 3% Joy [The W 3eied g,
9 & 39 T YRAPT F g@ I8 W ¥ M FHiH W YET T H W T G
forfiam |

Write your eleven digit Register Number on the Question Booklet as
allotted in the admission ticket in the space provided at the top right
corner of this front page.

2. TE ¥ Jeeh Rad sioe gRT et foRaT g3T € | 93T URY 8H o 95 379
U9 QRhT & ST AT i HIEH Tiet T ST Y foh Tt Yo 378q00T |

This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the Question Booklet at the time of
commencement of the examination. Check whether all the pages of the
Question Booklet are intact.

3. OMR 3™ T foog-a) 31em7 9 fear st |

TE A FMen

TEAR HERE TO OPEN THE QUESTION. BOOKLET
Uy qfRashT &1 WieH & fau a2t wie

OMR Sheet will be provided subject-wise separately.

4. 39 9T JRAR o ¥ H dF HeT fawa € qun -y foma & fetw atenT e
qRa®T & |

This set of Question Booklets consists of three core subjects and each
subject has separate Question Booklet.
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5.

T o § 40 WeF ¥ T € | 39 TR R H oA 120 T € |

(i) TIUT - U9 SFEH 1§ 40 A

(i) A - 999 FH® 41 80 TH

(i) ATATE &= - 799 A 81 ¥ 120 dF

40 questions are provided against each subject. This set of Question
Booklets contains 120 questions in all.

(i) Mathematics — Question Numbers 1 to 40

(ii) Science - Question Numbers 41 to 80

(ii) Social Science — Question Numbers 81 to 120

Tcdeh U9 Uah 3feh 1 & | WY Ul Sl TR ST A § | U Wl I+
feT0 Wk 37 <A1 AWM | Toid IR & [6IT 0T Jodish el 8T |

Each question carries one mark. Answering all the questions is
compulsory and each correct answer will be awarded one mark. There will

be no negative marking for wrong answers.

TRIET % FRH,

a) TR & § Uy |

b) OMR TR WF T U ST & G1Y WA MAGBR T el I el died
@ U F YT ®9 ¥ TR FHell FL | fmdt ot wiafse i S8 H1 T
T & T OMR 3T T T FIg ATSd FRH T T |
IO ;T YRAST H AG TR W 20 % U @E ST € € A OMR
SR T R fIHhed ¢ F T UeT & SR el / FHlell St @ i
T T AT Y|

79 HE&AT 20) ® © O (38 Hae T [T E )

O O @ O

c) TFEl i TR ¥ OMR 3R T i 7 A, HIS AT [FhIS 3R 7 & 39 W
LI |
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During the examination,

a) Read the questions carefully.

85-H/E (RF/RR/PF/PR/NSR/NSPR)

b) Completely darken / shade the relevant circle against Question

Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ @ @ ( This is an example only )
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.

fordl off TIe U9 & AT Uh § 31Tk TMiel i el fhdT ST af U1 3TR TTeid

HIAT STEIT q&AT 39 i\('i'{ °h|$( Wqﬁm ST |

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

3Tt qAT e d1eTh T OMR IR U5F H Yed STE U g&dlel T & |

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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10.

11.

12.

32refl haet IR foRaT goT fosa-aR OMR 3TR U5 ! WRIeTT 2l Sie & ol
FeT dieTsh ol |iT |

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.

T% S T JRAFT 3 3T H &1 T e W T © |

Rough work can be done in the space provided at the end of the Question

Booklet.

Fopolel, A, TS Tigdt auT 37 Tolaei-eh SUHOT i STIAfd W gfet
% I T |

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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81.
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faug : ame o=

Subject : SOCIAL SCIENCE

Fraffad wet / A9l FUE A9E & 60 9R fawer [ T € s
hael Toh WEl AT HaW AfUw IugH ¥ | I ¥ Wer faheq e 9
OMR S¥R U=%h W TeAl/el St @13 U7 gRT TTERT Hiell &Y |

40 X 1 =40
Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer among them and shade the correct

option in the OMR Answer Sheet given to you with a black / blue ball point
pen. 40 X 1 =40

FAATA H T e 3h A 28’ & T H ST ST o FAMk I8 o

(A) TR AR T FT Fs
(B) 3heeT WG AN

(C) T WY i TeT

(D) FUTZAT & FATEAT ST THAS A

Constantinople was considered as ‘The Gate of European Trade’ because it

was

(A) the centre for International Trade routes
(B) the only sea route

(C) the capital of Roman Empire

(D) the only source of resources of Europeans
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82.

83.

84.

T STTEH-TRIST g T 3T v, HfY g gt om |
(A) T (B) HoaTE
(C) AR (D) @R

The First Anglo-Maratha War ended with the treaty of

(A)

(€)

Bassein (B) Salbai

Allahabad (D) Lahore

fafewr =1 § wnfug fafaet IS T STET ST on

(A)

(©)

(A)

A 3T & ®9 ° (B) TISRERI 3&eId & &9 |

Al 3] o &7 0 (D) VRIS 3o o & |
The civil courts established during the British period were known as

Diwani Adalats (B) Fouzdari Adalats

Lok Adalats (D) Shariyat Adalats

(€)

fgcfia STTeT-PRRX g5 o IR TS Sl STCHIGERT ifed

g3 |

(A)
(B)

(€)

Il AreT | 88T 376l i W
T STE-TRIST 5 H USTal Sl WS

TSl §RT Wereh 9iY 0¥ g&dier

(D) HHATAT & U W 3THR

................

The British gained confidence during Second Anglo-Mysore War due to

(A)
(B)
(€)

(D)

Haider Ali’s defeat at Porto Nova
defeat of Peshwa in First Anglo-Maratha War
Marathas signed Subsidiary Alliance

Cornwallis captured Srirangapatna
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A= W 7 39S AT 6 98 § YR w1 THEns & THHEE OhF €
ey 32

(A) ‘ORI Bt R Al i =TSO hi
(B) T WehST ferat

(C) T WREUT 3=l YR e

(D) ke 3|l IRY R

Dayanand Saraswati realised that the remedies to the maladies of India

are present in Veda so he

(A) declared ‘Back to Vedas’

(B) wrote Sathyartha Prakasha

(C) started Cow Protection Movement

(D) started Shuddhi Movement

Fr=7 5 9 worT R Tl 95 & ST i T U HROT §
(A) T GYUT ST H et T

(B) TE YOI Tiad fogie o

(C) 3TTH g Ufdfsd 3T el o

(D) B ¥ YRR IT ST & fogial a9 ™
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87.

88.

One of the causes for the failure of First War of Indian Independence

among the following, is

(A) it spread all over the country
(B) it was a well organised revolt
(C) it had no eminent leader

(D) many Indian kings were disloyal to British

IRATT TR DT & T e8] o

(A) T=o Hio TS (B) g&sAT" S
(C) SRR ARISH (D) TIUTeT FET T

The First President of the Indian National Congress was

(A) W. C. Bonnerjee (B) Surendranath Banerjee
(C) Dadabhai Naoroji (D) Gopal Krishna Gokhale
frefeifad & @ @i ol § 2

(A) IS = (B) TTCT FIT Tt

(C) T TR fefeeh (D) T AT 1

The one who belongs to moderates among the following is

(A) Aurobindo Ghosh (B) Gopal Krishna Gokhale
(C) Bal Gangadhar Tilak (D) Lala Lajpat Rai
1702
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89.

90.
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TERST = THROT SR ..o T g A & fow % R |
(A) T e (B) U IEIEHI
(C) TSl e (D) =T TN et IR

Gandhiji launched Champaran movement to support

(A) Indigo growers (B) Cotton growers

(C) Tadi growers (D) Tea Estate workers

TASATT 2R ERT 9T TR Tl ARege’ i UMY e HT HROT o

() STTCTATETeT SN §CTehIUS T THe
(B) TR TR H TSI T THeA
(€) Toifest & To%s STHEANT ST LAl
(D) ToReN a&qat T uRenT

Rabindranath Tagore returned his title ‘Knighthood’ back to British

Government because to

(A) support the Jallianwala Bagh massacre

(B) support Gandhiji in Champaran Satyagraha
(C) express his non-co-operation against British

(D) boycott of foreign goods
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91.

92.

93.

‘ORA & e BV §

(A) TER TeTTdE T (B)
(C) ST TR ffeten (D)

The ‘Iron Man of India’ is

(A) Sardar Vallabhbhai Patel (B)
(C) Bal Gangadhar Tilak (D)
RA T Wl Sfiipa o T o

(A) 26 STF, 1950 Fl (B)
(C) 15 37T, 1950 (D)

AT gAY T S

dld] Hled Hegnx

Netaji Subhash Chandra Bose

Babasaheb Ambedkar

26 3T, 1950 i

26 SFeR, 1950 i

The Constitution of India was adopted on

(A) 26th October, 1950 (B)
(C) 15th August, 1950 (D)
ATRTIH T i T T 89 ...
(A) HEHRTERAT (B)
(©) &mETs (D)

ooooooooooooo

26th August, 1950

26th January, 1950

The objective of establishing Lokayukta institution is to check

(A) Communalism (B)
(C) Regionalism (D)
1702
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94.

95.
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ToRieT NG R EEEN o % o ga |
(A)  SRT T =UTA (B) R AT Y™
(C) ¥RT qer d= (D) 9Re qe sieiept

The Panchsheel principles were signed between

(A) India and Nepal (B) India and Bhutan

(C) India and China (D) India and Sri Lanka

&9 & eIl 9 9Rd §RT 0T &1 T8 Alg Te T8 32T &

(A) SPRT T THeTE T Ue TTd ST

(B) Gl T fasaTR &g Ue 39T 3EnT

(C) STad! q9T SIhRT e Ua LT ST

(D) VISTHET TN TR WlE T S8 ST

The Iron and Steel Industries established by India with the help of Russia

are

(A) Bokaro and Bhilai Iron and Steel Industries

(B) Salem and Vijayanagar Iron and Steel Industries
(C) Bhadravathi and Bokaro Iron and Steel Industries

(D) Rourkela and Durgapur Iron and Steel Industries
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(A) 3R i foger i

[aYa

(B) TSR YIeT ! foger =ifd

[a¥a

(C) Te® =i fasyr Aifq

(D) HeTeAT et i foeer Aifg

The Foreign Policy of India is also called as
(A) Foreign Policy of Ambedkar

(B) Foreign Policy of Sardar Patel

(C) Foreign Policy of Nehru

(D) Foreign Policy of Mahatma Gandhi

97. faa @ d@g @
(A)  HIH HETHHT (B) Y& UNWE
(C) et (D) TIHIAE Tof 3T uie
The World’s Parliament is
(A) General Assembly (B) Security Council

(C) Secretariat (D) Social and Economic Council
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99.
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‘HIH L ( United Nations )’ T ..ooveen... SR TRTferd [ T ot |
(A) Tko Blo Tolelee (B) STH® wife
() fordes afaet (D) STEEL Jg&

The word ‘United Nations’ was proposed by

(A) F.D. Roosevelt (B) Joseph Stalin

(C) Winston Churchill (D) Jawaharlal Nehru

1976 U STYIAT TRY AEFIT ..o H ofEvgs® URaad o ard
FEad o T |

(A) SUHRRT TSR &7 e

(B) STETIAT TUHR TRLIUT 3T
(C) TR 3TIPR TIEOT I
(D) AR 3R TRETT SAfafame

Untouchability Crime Act was implemented in 1976 with necessary

changes as

(A) Consumer Rights Protection Act

(B) Untouchability Right Protection Act

(C) Criminal Rights Protection Act

(D) Civil Rights Protection Act
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100.

101.

102.

STgTiad & & ek 1 T oTeIu &
(A) HAH (B)
(C) TSRS i Fiaen (D)

TSR SRl TR

The main feature of unorganised sector labour is

(A) migration (B)

(C) leave facility (D)

THET ST AR T A {51 T o1
(A) HET UIEHT ZRT (B)

(C) TS AT URES §RT (D)

Narmada Bachao Andolana was led by

(A) Medha Patkar (B)
(C) Kerala Shastra Parishad (D)
YT I T T §

(VI (C] (B)

(C) FHUISOT (D)

Invisible hunger refers to

(A) hungriness (B)
(C) malnutrition (D)
1702
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H=IATA SO §RT

Slo THo ASEEH! §RT

Sundarlal Bahuguna

D. M. Nanjundaswamy

poverty

richness
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104.

105.

85-H/E (RF/RR/PF/PR/NSR/NSPR)

T ST v oY el ST ¢ |
A) s (B) T
SRREINED (D) &

The Greater Himalayas are also called as

(A) Himadri (B) Himachal
(C) Siwaliks (D) Doons
et =T W ITAdH Ael §

(A) 3T (B) 3T
(C) T hiveT (D) STHFIH

The highest peak of the Eastern Ghat is

(A) Annamalai (B) Amrapali
(C) Arma Konda (D) Amarkantak
IR | Gl ATk 87 F@ T & &

() TR B) feg=r

(C) SFRI (D) R

The coldest month in India is

(A) November (B) December
(C) January (D) February
1702
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106. el fHET & 31fyeh g7 9T B9 T RO

107.

108.

(A) TE AT UG B €

(B) ZTHT T7 HTeAl Bl &
(C) T Jfeh o Al & | Il St @
(D) TEH TR ks & FUT B &

The black soil is highly retentive because it is
(A) extremely compact (B) black in colour

(C) found in heavy rainfall areas (D) pebbled rock particles

STeA0T R | ey orell Aol €

(A) FERT (B) FT

(C) TIRTeRT (D) T

The longest river in South India is

(A) Kaveri (B) Krishna

(C) Godavari (D) Tungabhadra

&7 ST T ST 31feeh T H STeRdy el gRT WAL a7 < Il §, I S §
(A) e o (B) e o
(C) IUTHCITHT GIBRT o | (D) HEECAT S |

The tree trunk supported by a number of stilt like roots is found in the
(A) Mountain forest (B) Mangrove forest

(C) Tropical evergreen forest (D) Desert vegetation
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109. 3TFETM ot TEcaqol TGN &1 =St IRASHT §

(A) ERTHS (B) R AT

(C) ¥ | (D) AT AR

The important multipurpose river valley project of Odisha is

(A) Hirakud (B) Bhakra Nangal

(C) Pampa Sagar (D) Nagarjuna Sagar
110. 9RA T 3TSThel ‘A’ PN & g9 & PT HRUT &

(A) TR FITd Te SR St

(B) TS AT AUIST HiT T YR 7 &

(C) T PN % IR & o0 HIE AT Tal &

(D) TN T T RN R ® &

Shifting cultivation in India is declining nowadays because

(A) of the governmental policies and tribal settlements

(B) people have now started coming out with commercial farming
(C) there is no demand for the products of shifting cultivation

(D) people are abandoning agriculture
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111. ‘9Rd & fafeteni =)’ &
(a) e B) T=E

112.

(€)

EacEaAIl (D) SIS

The ‘Silicon Valley of India’ is

(A)

(€)

Mangaluru (B) Mumbai

Kolkata (D) Bengaluru

= § ¥ S T & 9T H RS 3 2

(A)

FIqeRoT ER SH=MT

(B) e &Eli H de] A W Afey

(€)

(D)

¢ T HUS 1 T fohrg

TIHE S 3 [0 Mo FU @le- o Aidey

One of the preventive measures for the earthquake's effects among the

following is

(A)

(B)

(€)

(D)

constructing retention wall

restrict sand mining in coastal areas

developing mangrove forests along the coast

restriction on digging of deep wells for underground water

1702
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114.

115.
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113. TRl 397 § Uk a9 § a3l U Warei & IRA H Fol 7 erdl &

(A) Wiq = A (B) aTEdfEe T

(C) TET-T& H 'R (D) BRI ! I FH

The total value of all goods and services produced in a country during one

year is
(A) Per capita income (B) Real national income
(C) Standard of living (D) Purchasing power parity

T RIS i TR0 o

(A) STATEIATT Hg& i (B) ST TR fofeteh oh

(C) TER T Yoot i (D) HETcAT TTelt

Gram Swarajya was the concept of

(A) Jawaharlal Nehru (B) Bal Gangadhar Tilak
(C) Sardar Vallabhbhai Patel (D) Mahatma Gandhi
ST ST 3T I FeoA ST @ it fopan S &, o &

() 7T forhre B) fowE

(C) ¥id AR A= (D) @A-F&T &l &

When the National Income is divided by the total population it is

(A) Underdevelopment (B) Development
(C) Per capita income (D) Standard of living
1702
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116. T ATHE 1T T T TG T ORIy foheToh Agea | TR T € 2

(A) FELA TOM (B) o RTeRM™ T
(C) T U (D) o o HRA

Establishment of Kaiga Nuclear Power Plant was opposed under the

leadership of
(A) Sundarlal Bahuguna (B) Dr. Shivaram Karanth

(C) Medha Patkar (D) B. V. Karanth

117. 9fq a9 15 A1 &1 ‘Tosg IqdihT fead’ 79 &1 RO &

(A) S Tho el 7 T 3 SUIRRT SMUHR i WHRR oha

(B) 39 &7 Teivs o IUHIRAT SATUhR Hitvd foha
(C) 15 HTE I TIh I T TR AR =ifa feran

(D) W 7 IueRRT fored e gam

15th March is observed every year as ‘World Consumers Day’ because
(A) John F. Kennedy accepted the Consumer rights on this day

(B) England declared the Consumer rights on this day

(C) UN declared Consumer rights on 15th March

(D) Consumer Education was started on this day
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119.

120.
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R T ITHRAT WA ST TR 3T 9
(A) 1966 H (B) 19769
(C) 1986 H (D) 1996 |

The Consumer Protection Act was passed in India in the year

(A) 1966 (B) 1976

(C) 1986 (D) 1996
ST T S &

(A) NABARD (B) UUHT SF
(c) R=m@ o (D) IDBI

The Bankers’ Bank is

(A) NABARD (B) Apex Bank
(C) Reserve Bank (D) IDBI

(a) T (B) T

(©) feoett (D) SIcTehTaT

The ‘Gateway of India’ is

(A) Chennai (B) Mumbai
(C) Delhi (D) Kolkata
1702
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(% FE F ot e )

( SPACE FOR ROUGH WORK )
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(TF FE F o s )

( SPACE FOR ROUGH WORK )
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